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Instructions :

The question paper has 36 questions in all. All questions are compulsory.

Marks are indicated against each question.

This question paper consists of two parts i.e. Part-I and Part-II. Part-I of this question paper
contains Multiple Choice Questions (MCQs) from serial number 1 to 16 of 1 mark each.
These sixteen questions of Part-I are to be answered on a separate sheet provided. This part
has to be completed in first 30 minutes only and the answer sheet must be handed over to
the invigilator before starting Part-II.

In Part-II of the question paper, there are 20 questions from serial no. 17 to 36. These questions
are to be attempted in 2 hours and 30 minutes. This part should be attempted only after the
stipulated time given for Part-I.

Questions from serial number 17 to 31 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 32 to 35 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 36 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.
An additional 15 minutes time has been allotted to read this question paper only.
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PART -1

The introduction of which of the following crops led to European poor to eat better and
live longer ?

a Potato b Spaghetti
pag
C Tomatoes d) Sova
y
OR

By which of the following phenomenon was the pattern of industrial change in India
conditioned?

(a) Colonial rule

(b) Weakness of the Mughal rule

(c) Poverty of the country side

(d) Struggle between the European powers to control India
OR

To which of the following European powers did the seven islands of Bombay belong
before passing into the hands of the British ?

(a) German (b)  French
C Dutch d) Portuguese
g

Nineteenth century ‘indenture” has often been described as

(a) forced conscription (b) new system of slavery

(c) serfdom (d) None of these
OR

Which one of the following was the job of Gomastha.

(a) Supervise weavers (b)  Collect supplies

(c) Examine the quality of the cloth (d) All the above
OR

Which of the following was not a Presidency city?

(a) Bombay (b) Calcutta

() Delhi (d) Madras

The circulation of handwritten manuscripts remained limited because :
(a) they were fragile and awakward to handle
b) they could not be carried around

(
(c) they could not be read easily
(d) all the above

OR
Who among the following is considered the pioneer of modern Hindi literature?
(a) Bharatendu Harishchandra (b) Devaki Nandan Khatri
() Premchand (d) Srinivas Das
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Paperback editions of books were introducted during:
(a) the First World War
(b) the Second World War
(c) the Russian Revolution
(d) the onset of the Great Depression
OR
Chandu Menon'’s characters Indulekha and Madhavan depict :
(a) Western sensibilities
(b) A mythological age
() How Indian and foreign lifestyles could be brought together in an
ideal combination
(d) The then existing lifestyle among the Nayars of Kerala

Resources which are surveyed and their quantity and quality have been determined
for utilisation are knwon as :

(a) Potential resources (b) Stock
() Developed resources (d) Reserves

Species that are found in some particular areas usually isolated by natural or
geographical barriers are known as :

(a) Vulnerable (b) Endemic
(c) Extinct (d) Endangered

Tanka is rain water harvesting technique associated with which of the following states :
(a) Tamil Nadu (b) West Himalayas
(c) Gujarat (d) Rajasthan

Hoe, dao, digging sticks are associated with:
(a) Primitive subsistence farming

(b

Commercial farming

)
() Green Revolution
(d) Horticulture

Power can be shared in modern democracies in the following ways :
(a) Among different organs of the government

(b) Among various levels

(c) Among different social groups

(d) All the above
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Which of the following does Brussels not have? How many times the constitution of
Belgium was amended between 1970 and 1993?”

(a) Two times (b) Three times
(c) Four times (d) One time

When power is taken away from Central and State governments and given to local
government, it is called :

(a) Distribution (b) Centralisation
(c) Reorganisation (d) Decentralisation

On which of the following ideas is communal politics based ?
(@) One religion is considered than the other

(b) Creating a vote bank of the basis on religion

(c) Parties promote religious stereotypes.
(

d) All the above

Income alone is not a completely adequate indicator of development of a country. Which
one of the following is not correct with regard to this statement ?

(a) Money cannot ensure a pollution free environment for individual
(b
(c
(

) Some people earn more than others do
) Money helps us buy only material goods and services

d) Money does not ensure respect and dignity for individuals

Infant mortality rate refers to the number of the children that die :
before the age of one year as a proportion to 1000 live births in that
particular year.
before the age of five years as a proportion to 1000 live births in that
particular year.
before the age of one year as a proportion to 100 live births in that particular year
out of 1000 live births in that particular year.

Workers in agricultural sector are
(a) underemployed (b) over employed
() unemployed (d) None of these

Which of the following is not applicable for a worker, who works in the organised

sector ?

(a) She gets a regular salary at the end of the month

(b)  She is not paid for leave

(c) She gets medical allowance

(d) She got an appointment letter stating the terms and conditions of work when
she joined this work.
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PART -1I

What was the Corn Law? Why was the Corn Law abolish? What was the result of the
abolishing of Corn Law? 1+2=3

OR

Why do historians agree that the typical worker in the mid - nineteeth century was not
a machine operator but the traditional craftsperson and labourer? 3x1=3

OR

Explain any three sources of entertainment for the common people of London. 3x1=3

How did the print culture create conditions within which the French Revolution?’X 1=3
occurred? -

OR

What were the various uses of novels from the Indian point of view? 3x1=3

‘Liberty of speech.. liberty of the press... freedom of association. The Government of
India is now seeking to crush the three powerful vehicles of expressing and cultivating
public opinion. The fight for Swaraj, for Khailafat... means a fight for this threatened
freedom before all else...

(i)  Who said the above statement?

(i) why was the Government trying to crush the three vehicles of expression?
OR

Why women should not read novels

From a Tamil essay published in 1927;

‘Dear children, don’t read these novels, don’t even touch them. Your life will be ruined.
You will suffer disease and ailments. Why did the good Lord make you - to wither
away at a tender age? To suffer in disease? To be despised by your brothers, relatives
and those around you? No, no. You must become mothers; you must lead happy lives;
this is the divine purpose. You who were born to fulfil this sublime goal, should you
ruin your life by going crazy after despicable novels ?

(i)  Why are girls told not to read novels ?
(i) What should girls do ?

How did print help connect communities and people in different parts of India? Explain
with examples. 1Y2+1%2=3

OR

“The novels brings together many cultures.” Explain

What is soil erosion? Write two human activities that lead to soil erosion.
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How is biological loss of forest and wildlife correlated with loss of cultural diversity ?

What objections have been raised against multipurpose river valley projects ? 3x1=3
Explain any three.

What are some of the basic elements of the Belgian model of power sharing ?
Write any three.

Differentiate between overlapping and cross cutting differences with examples. 1%2+1%2=3

Describe with example any one factor that determines the outcome of politics 3x1=3
of social division?

Explain any three forms of caste politics in India. 3x1=3

With the help of an example show how two groups may have different notions of
development.

Explain three attributes for comparing notions of development between
different countries.

Describe the change in the different sectors of the economy over a period of time.  3x1=3

Suggest three ways in which states or regions can increase their income and employment
opportunities of their people. 3x1=3

What was the impact of the First World War on the socio-economic conditions of the
world? Write four points. 4x1=4
OR
Explain how the condition of the workers steadily declined in the early twentieth century
Europe.
OR

What steps were taken to clean London in the early and mid 20th century? Write four
points. 4x1=4

State any four geographical conditions required for tea cultivation. 4x1=4

Write four features of federalism. 4x1=4

Give four reasons why the tertiary sector has become so important in India. 4x1=4
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36. Three features with serial number 1-3 are marked on the given political map of India.
Identify these features with the help of the following information and their correct
names on the lines marked on the map 3x1=3

(i)  Soil type
(i) Major producer state of cotton

(iii) Tyoe of forest

Locate and label the following items with appropriate symbols on the map

(i) Nagarjunsagar dam
(ii) Corbett National Park

(iii) Major producer state of wheat

Note : The following question is for the visually challenged candidates only, in lieu of Q.
No. 36.

36. 1.  Major producer state of cotton
36. 2. Name the state where corbett National Park is situated
36. 3. Name of the dam inJ & K

-00o0-
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T -1
frefafed # & forg waa & ufem 3 JAf 9 & Sg@ e o) afys 3y a6 SR &l 1
&I i off ?
(a) T (b) Ee () TR (d)
JreEr
frefafed § 9 =1 1 9iewe TR aRfefae § sienfie afed &1t @eg or?
(a) oTufafes wmem

(b) TS WEA I HHSIY
(c) WA | UTHor & i fedAa
(d) 9ra W FEEn & fag Rt afedl 9 ged
YT
Frefafed ® 9 fafen 71l ® 997 9 gt fhg UM w1kt < a1 918 < §1d §iai o1 250
o7 ?
(a) SmA (b) W (© =4 (d) T

et Wl o ‘ STgafya’ foRd 1 wer S o1 ?

(a) T (b)

() wYeT SR d) f=H3%E T
Jrerar

freAfafed § | AW 1 & o -

(a) FIRY WA W@ (b) WA Fehgl HET

(c) YS! I TUTE @A d) STE Tl
Jrrar

frefafed § @ #F T T fadt (seR) =& o ?

(a) = (b) HeAHTI c) feeit

FHfArad avgfafuai 1 I=ad &1 o1 F41 fh-
(a) o o Bl off 3TR TR W@ qYETE o |
(b) % Wl S &I o ST S Fehal o1
(c) S SATEMT ¥ & gl S Fehall o |
(d) ST® Gt
3rerET
frefafed § @ fod sy vRda wifec o1 g (STIof) WA ST € 2
(a) WRd BfEEs (b) TIHRI T=A Gl
(c) TR (d) ifFemE ™
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qEehl h1 ‘ UOslsh HERI0T' TEdTiad g3l o1 ?

(a) voH fovegg H (b) fedta fovegs #

(c) & =ifa | (d) wEm=T H gEa H
AT

THAA o AR TerEn SR ATEEH T § -

(a) afaHt wETefierar

(b) ORI g

)
() fod YR uRd iR fogeht Stemdiett 1 stest wftsor fhan s gevar © 2
d) FE@H TN H gAfAd S et Hl

3 Ty et Feeror foan < TRt B 1R ST STAN i e iR A fAuifa ®i s gt
B I HE @ E -
(a) H9SA FHHEA  (b) YR (c) fowfaa gaem  (d) wfed =

iehfden IR iiiferes imeti @ e faom &=l § o S arelt Sifaar el sl @
(@) §I (b) I () TH (d) WHeHaUw

frfafea & 9 3o St T auisial GURl i aohHih ©, 6 To9 § grafod § ?
(a) dIHEATE (b) ufved feae™m (o) TSR (d) TSI

RS T T, 3T TR G HTA Il S Hl T ¢ -
(a) URfy Saq frafe wfv @ (b) =nforicoe v |
(c) wfa=ifad (d) 9 w9

ST TR = | el i WIEER FAfArEd el 9 HT < Tl & -
(a) TR & fafis i o =

(b) fafim @l & &=

(c) Tafis g wqgEl o st

(d) ST gt

dfestay & Gfaum &1 foran IR genfea fowam ma on?

(a) TR (b) T aR
(c) ¥RER d) TH R
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. I &g 3R T TR W UihAl I AT THE IR i ¢ fodn S & O 39 el S € -
(a) oo (b) AR
(c) qTETA CORREERAERY

. Trfafea § @ f eeel w wmeifas Teifa smenfa €2
(a) TH gH I 3T ¥l ¥ g HEA

(b) g % SMUR W A S 1 FmT0 H3

(c) TSHfde Tall gRI Sfawrd wfeanfedt st semar <A1

(d) ST® Gt

<9 % faem & fau o T wrqul Arague 79 § | fAfated | 9 39 %o & fau sF w8
TIE -

(@) o @ % fAT YU STreRy YT e X gkl

(b) T AN I Afek FAM §
(c)

(

¥ hael aEgell IR Fansti it Tlek ¥ gUR Aeg w4 €|
d) o= gt & fou gmm ok i giafaa & & g

. o) geger =t srfirym o o= @ ¥ S e € -
(a) TH I9 % SN Ufd §9IR T =9 o4 Al | T 99 9§ %Y 39 9 Ted
(b) T ¥ % SR YidesIR 7T S &F aTel § e 9% 9§ &H 39 § T
(c) TH I H yfd Tk | TC 51 @ Il § T 99 § FHH Y F I
(d) TFFYH Yfd SRS oAH a1l o= H 9

HTTa &5 % Ao e ¢
(a) SATIISIR (b) Afd ISR
(c) SRSTR (d) =89 FE =

. frefafaa § § % © gfed &9 § w1 FHare gftw (safa) & fo sfoa = e g,
I AE & ofd # Frafaa 9qq frcrar €
Y ST % A i T& g @
39 Tafea v ferar &
T 1 I I R T Teet 9 i o 9 R fefa & et vk Ffe o faera ®
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T - 11

T T 1 o1 7 3 T AWM TR T 2 1A AT ki FHTH <k R 9oy g g ? 1+2=3
At

SRR 59 91 1 i 7 ol § foh Seiwet U<t % wed i Sid Horgl el W T wH

AT 8] Toeh! I ShIIR o 2 3x1=3

3T
e & ST AN & T8 ST H AT T qARSH o TRl a9 d1ei i T8 FHifag | 3x1=3

g TR 1 G201 Gepid 7 TG Hifa & fow e afkferder i of ? 3x1=3
AT
ORI o e ¥ ST=d & fafyys sqam = 92 3x1=3

‘Toft T TAA.... T I STSG.. FTfgehRdl S STSGT | YA TR 3T SHA ! oFh i
3R M F T A9 drehdear TSR 1 Ta i IR X @R | 1+2=3

@S, faaThd... F oS, Tad Ugd dl 37 HeheUid SASCal i TSR &,
() ST® FHYF e &L 972
(i) TR iy & i arel ol & e @ off 2

YT
1927 ¥ Y1 Ueh AU o1 1 Teh 3797 -
“ T afere, 39 STl S geA va, S ot el | TR S JaTe 71 S, g s 3R
el SR | $vaR A gR | U1 TR B 2 sl B ©f 39 # ek & fau ? MR e &
o 2 e wrgall, RedeR oIk STadT ol 1 gon & I o o farg 2 e e 9 | s R,
T =81 f<ilt =feq; I8! TRl <ol 3599 ©, IR 59 ST Se¥d &l U it o forg 5 faan
B, 1 TR 3 ST ok N NS iRt ST TSt deie R oAt =mten 2
() TefRAl hl IT=H YA ok o3 = 7 o Siwan e ?
(i) TTS(RAT I FT HET AT ?

e A fFa goR gerEl oIk wra & fafie vl § waere @ i sires 1 et fRan on
112+1%=3
rerar

YT g IR HERIqE! S U e e €, Ty Hifa | 3

T 3TIREA 1 § ? a1 TWeH & e Sawert <1 aatg st & wm wifsd |

8 YR 99 W& 9= Sal &1 Sifask g "iekfas fafieman &1 a7 @ oo § grafd €2
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SgSREe e S i % fors & e amafeEi Sor T § 2 R i T i 2 3x1=3

SfeTam | T H WEER F Tied & g 51 7 ¢ 2 fFE 99 % R A fafaw 3x1=3

fafiamet § gm~re iR g &1 frafq & o= 3SRl § 7189 ¥ S RIS | 1%+1%=3

ICTEIOT & HIETH Q HHTfSieh faursii st TSt & 9ROmHl o fdt T 2mam &1 T8 shifay |
3x1=3

I | Sfqrd TSt o fohegl 19 €91 I T8 HINT | 3x1=3

Teh SR o HIEAH ¥ T Hifey % <1 faxdia gugl & i faswm st arond e 4 § 2

fafyr= <uil o ot forehm &t qoTcen ST o i TUlcTeh U8e] T8 il |

sreferereen & o &5/l § 99T & 919 3T SccTa] 1 IUH HIfST |

o 1 R @ SRR AT 1 3T SR ISR & 31y | gig % Tahell & 2

fova =t TrIfST TR enifefer fearfd @ yem fova 45 & 0 g9 92 9 7 =R fawgsti # fafaw

4x1=4
AT

oot 9t & Y § g9 § gkl i R o1 9 fRee %l w1 Fifee | 4
e
20 o Tl o YREY TR 7 H ol hil THE & U 9 9 Ted S T 9 |

T hl HEA & faU fh=t IR eyt dimifas gem JaRy |
HEd1g & IR S&T0 aqiEy |

IR HROT AT 1 IR F AT &5k F1 ST Teedqul o T © 2
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36. fau U vRa & Tomfass T qAfaS § 19 AT 3 T o1 et 3ifehd T U € | 39 A0
TEAY q1 € T8 SR o TR 3Tk Fel 9 A= § Afhd i T3 W@iell | fafeaw 13x1=3

(i) HI T IRR

(ii) <h9TH <1 THE 3TISsh T
(iti) oI AT YRR
JrqET
T MU R o Tefaes Y@ aHfes § frefaftaa w1 fafa sfaa fo=i & aem 9 g9y
() TS AR Y
(i) e TWEA qh
(iti) g T TE I]AGH T
e ;. frfafEa g9 waa =fer afenfe= & fau ye7 9 36 & T\ W
36.1 U & Y@ 3AGH T h1 A9 iy |

36.2 ST T K1 A9 Id18U W@l e I3M ek feerd §

36.3 W 3TR HYHR & =i % AW AT |
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